Negative Exponents
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Example 1 Simplify in exponential notation 55
5~ 5% which oquals 5°
P which equals
I Lt dividing out the 5°s, we have ——— =
55 S xS x5x5x5’ v gou > W 5x5x5 5°
74
Example 2 Simplify in exponential notation =
7! : - . ..
= 7**which equals 7 ? Doing it by the definition of exponent,
we get,
7 KX XXX X 1

L= , dividing out the 7’s, we have

70 Y x XU x X x X xTx7T 7><7:?



Any base, except 0, raised to a negative exponent is equal to 1 over the base
raised to a positive exponent.
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